

# 1.2.2

$$\square (1) \frac{dy}{dx} = \frac{2xy}{x^2+y^2} = \frac{2\left(\frac{y}{x}\right)}{1+\left(\frac{y}{x}\right)^2} \quad v = \frac{y}{x} \text{ एके } y = xv \therefore \frac{dy}{dx} = v + x \frac{dv}{dx}$$

$$\text{थिए } \frac{dy}{dx} : v + x \frac{dv}{dx} = \frac{2v}{1+v^2} \therefore x \frac{dv}{dx} = \frac{2v}{1+v^2} - v = \frac{2v - v - v^3}{1+v^2}$$

$$= \frac{v - v^3}{1+v^2} \therefore \frac{1+v^2}{v(1-v^2)} dv = \frac{dx}{x} \therefore \int \left( \frac{1}{v} + \frac{2v}{1-v^2} \right) dv = \log x + c$$

$$\therefore \log v - \log(1-v^2) = \log x + c \therefore \log \frac{v}{1-v^2} = \log e^c \cdot x \therefore \frac{v}{1-v^2} = e^c \cdot x$$

$$\therefore \frac{v}{1-v^2} = cx \therefore \frac{xy}{x^2-y^2} = cx \therefore x^2 - y^2 = \frac{1}{c} y \therefore x^2 - y^2 = cy$$

$$(2) xy \frac{dy}{dx} = y^2 - x^2 \therefore \frac{dy}{dx} = \frac{y^2 - x^2}{xy} = \frac{\left(\frac{y}{x}\right)^2 - 1}{\frac{y}{x}} \quad v = \frac{y}{x} \text{ एके } y = xv \therefore \frac{dy}{dx} = v + x \frac{dv}{dx}$$

$$\text{थिए } \frac{dy}{dx} : v + x \frac{dv}{dx} = \frac{v^2 - 1}{v} = v - \frac{1}{v} \therefore x \frac{dv}{dx} = -\frac{1}{v} \therefore v dv = -\frac{dx}{x}$$

$$\therefore \frac{1}{2} v^2 = -\log x + c \therefore v^2 = -2 \log x + 2c \therefore \frac{y^2}{x^2} = -2 \log x + 2c \therefore \frac{y^2}{x^2} = -2 \log x + c$$

$$\therefore y^2 = x^2 (-2 \log x + c)$$

$$(3) \frac{dy}{dx} = \frac{x+y}{y-x} = \frac{1+\frac{y}{x}}{\frac{y}{x}-1} \quad v = \frac{y}{x} \text{ एके } y = xv \therefore \frac{dy}{dx} = v + x \frac{dv}{dx} \text{ थिए}$$

$$\frac{dy}{dx} : v + x \frac{dv}{dx} = \frac{v+1}{v-1} \therefore x \frac{dv}{dx} = \frac{v+1}{v-1} - v = \frac{v+1-v^2-v}{v-1} = -\frac{v^2-2v-1}{v-1}$$

$$\therefore \frac{v-1}{v^2-2v-1} dv = -\frac{dx}{x} \therefore \frac{1}{2} \log(v^2-2v+1) = -\log x + c \therefore \log(v^2-2v-1) = \log \frac{e^{2c}}{x^2}$$

$$\therefore v^2 - 2v - 1 = \frac{e^{2c}}{x^2} \therefore y^2 - 2xy - x^2 = e^{2c} \therefore x^2 + 2xy - y^2 = c$$

$$(4) \frac{dy}{dx} = \frac{y}{x} + \tan \frac{y}{x} \quad v = \frac{y}{x} \text{ एके } \frac{dy}{dx} = v + x \frac{dv}{dx} \text{ थिए}$$

$$\frac{dy}{dx} : v + x \frac{dv}{dx} = v + \tan v \therefore \frac{x dv}{\sin v} = \frac{dx}{x} \therefore \log \sin v = \log x + c = \log e^c \cdot x$$

$$\therefore \sin v = e^c \cdot x \therefore \sin \frac{y}{x} = c x$$

$$(5) \frac{dy}{dx} = \left(\frac{y}{x}\right)^2 + \frac{y}{x} + 1 \quad v = \frac{y}{x} \text{ एके } \frac{dy}{dx} = v + x \frac{dv}{dx} \text{ थिए}$$

$$v + x \frac{dv}{dx} = v^2 + v + 1 \quad \therefore \frac{dv}{v^2+1} = \frac{dx}{x} \quad \therefore \tan^{-1} v = \log x + c \quad \therefore v = \tan(\log x + c)$$

$$\therefore \underline{y = x \tan(\log x + c)}$$

$$(6) \frac{dy}{dx} = \frac{y}{x} + \sqrt{1 + \left(\frac{y}{x}\right)^2} \quad v = \frac{y}{x} \text{ एके } \frac{dy}{dx} = v + x \frac{dv}{dx} \quad \text{असे असे:}$$

$$x + x \frac{dv}{dx} = x + \sqrt{1 + v^2} \quad \therefore \frac{dv}{\sqrt{1+v^2}} = \frac{dx}{x} \quad \therefore \log(v + \sqrt{v^2+1}) = \log x + c$$

$$\therefore v + \sqrt{v^2+1} = e^c \cdot x \quad \therefore \frac{y}{x} + \sqrt{\frac{y^2}{x^2} + 1} = c x \quad \therefore \underline{y + \sqrt{x^2 + y^2} = c x^2}$$

$$\boxed{2} (1) \text{ २ रेषा } x - y - 1 = 0, x - 2y - 1 = 0 \text{ असे प्रतिच्छेदन बिंदु } (x, y) = (1, 0). \text{ जो } p = x - 1, q = y$$

$$\text{एके. असे } \frac{dq}{dx} = \frac{dq}{dp} \text{ तो } \frac{dq}{dp} = \frac{p - q}{p - 2q} = \frac{1 - q/p}{1 - 2q/p} \quad v = \frac{q}{p} \text{ एके } \frac{dq}{dp} = v + p \frac{dv}{dp}$$

$$\frac{dq}{dp} = v + p \frac{dv}{dp} \quad \text{असे असे } v + p \frac{dv}{dp} = \frac{1 - v}{1 - 2v} \quad \therefore \frac{2v - 1}{2v^2 - 2v + 1} dv = -\frac{dp}{p}$$

$$\therefore \frac{1}{2} \log(2v^2 - 2v + 1) = -\log p + c \quad \therefore \log(2v^2 - 2v + 1) = \log \frac{e^{2c}}{p^2}$$

$$\therefore 2v^2 - 2v + 1 = \frac{c}{p^2} \quad \therefore p^2 - 2pq + 2q^2 = c \quad \therefore \underline{(x-1)^2 - 2(x-1)y + 2y^2 = c}$$

$$(2) \text{ २ रेषा } 6x - 2y - 3 = 0, 2x + 2y - 1 = 0 \text{ असे प्रतिच्छेदन बिंदु } (x, y) = \left(\frac{1}{2}, 0\right). \text{ जो } p = x - \frac{1}{2}, q = y$$

$$p = x - \frac{1}{2}, q = y \text{ एके. असे } \frac{dq}{dx} = \frac{dq}{dp} \text{ तो } \frac{dq}{dp} = \frac{6p - 2q}{2p + 2q} = \frac{3p - q}{p + q} = \frac{3 - q/p}{1 + q/p} \quad v = \frac{q}{p} \text{ एके } \frac{dq}{dp} = v + p \frac{dv}{dp} \quad \text{असे असे:}$$

$$v + p \frac{dv}{dp} = \frac{3 - v}{1 + v} \quad \therefore \frac{v + 1}{v^2 + 2v - 3} dv = -\frac{dp}{p} \quad \therefore \frac{1}{2} \log(v^2 + 2v - 3) = -\log p + c$$

$$\therefore \log(v^2 + 2v - 3) = \log \frac{e^{2c}}{p^2} \quad \therefore v^2 + 2v - 3 = \frac{c}{p^2} \quad \therefore q^2 + 2pq - 3p^2 = c$$

$$\therefore \underline{y^2 + 2y(x - \frac{1}{2}) - 3(x - \frac{1}{2})^2 = c}$$

$$\boxed{3} \quad x^2 + y^2 = cx \quad \therefore 2x + 2yy' = c \quad \therefore x^2 + y^2 = x(2x + 2yy')$$

$$\therefore x^2 + y^2 = 2x^2 + 2xyy' \quad \therefore 2xyy' = y^2 - x^2 \quad \text{Divide both sides by } x^2$$

$$2xy \left(-\frac{1}{y^2}\right) = \frac{y^2 - x^2}{x^2} \quad \therefore \frac{y'}{2xy} = \frac{1}{x^2 - y^2} \quad \therefore y' = \frac{2xy}{x^2 - y^2} = \frac{2\left(\frac{y}{x}\right)}{1 - \left(\frac{y}{x}\right)^2}$$

$$v = \frac{y}{x} \quad \text{Let } v = \frac{y}{x} \quad \frac{dy}{dx} = v + x \frac{dv}{dx} \quad \text{Substitute } v = \frac{y}{x}, \quad v + x \frac{dv}{dx} = \frac{2v}{1 - v^2}$$

$$\therefore x \frac{dv}{dx} = \frac{v^2 + v}{1 - v^2} \quad \therefore \frac{v^2 - 1}{v(v^2 + 1)} dv = -\frac{dx}{x} \quad \therefore \int \left( \frac{2v}{v^2 + 1} - \frac{1}{v} \right) dv = -\log x + c$$

$$\therefore \log(v^2 + 1) - \log v = -\log x + c \quad \therefore x \left( \frac{v^2 + 1}{v} \right) = e^c \quad \therefore x^2 + y^2 = e^c \cdot y$$

$$\therefore x^2 + y^2 = cy \quad \text{Put } x=1, y=1 \text{ in } 1^2 + 1^2 = c \cdot 1 \quad \therefore c = 2 \quad \therefore x^2 + y^2 = 2y$$